JL_

Vertical Division with aHelper Grid

Name:

Solve each problem.

1)

45|6337

4)

98(2646

7)

8714054

2)

26|13027

5)

791817

8)

4214990

3)

6)

9)

256623

586148

812673

Answers
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
D) 140r37 2) 116111 3) 264123 . 140137
45(6337 263027 25(6623 |
0 0 0 , 116111
63 30 66
45 26 50 3. 264 r23
183 42 162 . 7
180 26 150
37 167 123 5. 23
0 156 100
37 11 93 6. 106
4) 27 5) 23 6) 106 rA0ree
982646 791817 58(6148 s 118134
0 0 0
26 18 61 9 33
0 0 58
264 181 34
196 158 0
- 686 237 348
686 237 348
0 0 0
7) 46152 8) 118r34 9) 33
874054 42[4990 81[2673
0 0 0
40 49 26
0 42 0
405 79 267
348 42 243
574 370 243
522 336 243
52 34 0
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# Vertical Division with a Helper Grid Name:

Solve each problem. Answers
33 118 r34 23 264 r23 106 140 r37
46 r52 27 116 r11 1.
1) 2) 3)

45|6337 26|13027 256623

4) 5) 6) 8.

9812646 79|11817 5816148

7) 8) 9)

874054 4214990 812673
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